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General Instructions :
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(v)
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(vii)
(viii)
(ix)
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This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into two parts — Part A and Part B.
Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A

(Accounting for Partnership Firms and Companies)

Sujata Ltd. issued 5,000, 7% Debentures of ¥ 100 each at a premium of
10%. According to the terms of issue, 40% of the amount was payable on
application and the balance on allotment. The issue was fully subscribed
and all amounts were duly received. The amounts received on application
and allotment respectively were : 1

(a) ¥ 2,50,000 and ¥ 3,00,000
(b) ¥ 2,00,000 and T 3,00,000
(¢) ¥ 2,00,000 and T 3,50,000
d ¥ 2,00,000 and T 2,50,000
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2. () o qen guft T ®H W 9EiER 9 991 3: 2 % U H TH-gIH died
9 | 13799, 2022 §  ATH ! TS died % fT 787d g | wH
i TG T Yo T 3,00,000 foham w1 | AHRISE ffdfiea 9 |
fepd oied grr fepan e 2

(a) Hoft & 9 98 d T 30,000 a1 f=1 o @1 9 H T 30,000 i
AT |

(b) o < 9@ ws # T 30,000 a1 goft o @1 4G T T 30,000 H
AT |

(c) Hoft o 9™ 9& ¥ T 3,000 1 f&m o sm1 9 & T 3,000 Hi
WA |

(d) o amug § T 3,000 a1 guft o 591 98 7 T 3,000 hHi
TdHT |

T
(i) 79, AT TAT HIEd Teh HH H AISIGR & TAT 8:5: 3 o UM H oA
&1 fauTeq wd 9 | 1 318, 2022 ¥ 38 I8 o foren o wfasr 4 9
ATHI 1 TOHTSH 5: 6 : 5 % 314 H al | HHIRgd § 8 v-fads=
AT | qRE o 0T FTHERI o AT I TN hl TgaH HilT :

(a)  THT T ATTY %, g <1 T %,ﬂﬁ%ﬂ?ﬂﬂm %
(b)  TTHA 1 M %,gﬂqwaﬁw %,ﬂﬁ%ﬂaﬂ < DI %

(¢)  TTHT Bl oM %,gﬂqwﬁw %,ﬂﬁ%ﬁw AT %

3 2 1
d 89 BT Y —, HdWcﬂl‘l—,ﬁll%ﬂWﬂT’T—
@ 16 3 16 16

3.  o/Ituq (Wit T&l TS) 79 S i 98 Wi fHEeht A= shadd Ut o faeed &
I & I S Tehdl 8, hadldl 2

(a) Tifia 90
(b) e Ysit

(c)  @fua il
d)  Afifa goh
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2. (1) Ria and Surbhi were partners in a firm sharing profits and losses
in the ratio of 3 : 2. With effect from 15 April, 2022, they agreed to
share profits equally. The goodwill of the firm was valued at
T 3,00,000. The adjustment will be done by which of the following

transaction ? 1

(a)  Debiting Surbhi’s account by ¥ 30,000 and crediting Ria’s
account by ¥ 30,000.

(b)  Debiting Ria’s account by ¥ 30,000 and crediting Surbhi’s
account by ¥ 30,000.

(c) Debiting Surbhi’s account by ¥ 3,000 and crediting Ria’s
account by ¥ 3,000.

(d)  Debiting Ria’s account by ¥ 3,000 and crediting Surbhi’s
account by ¥ 3,000.

OR

(i1)) Naman, Suman and Mohit were partners in a firm sharing profits
in the ratio 8 : 5 : 3. With effect from 15t April, 2022, they decided
that in future, they will share the profits in the ratio 5 : 6 : 5.
Identify the gain or sacrifice by the partners due to change in
profit sharing ratio, from the following : 1

(a) Naman’s gain % , Suman’s sacrifice % , Mohit’s sacrifice —
K * 3 B . 1 R . 2
(b)  Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16
2 . 3 b . 2 R} . 1
(c) Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16

(d) Naman’s gain % , Suman’s sacrifice % , Mohit’s sacrifice —

3. Part of the uncalled share capital that can be called up only at the time of
winding up of the company is called : 1

(a)  Issued capital
(b)  Paid-up capital
(c) Reserve capital

(d)  Un-issued capital

67/4/3 ~ N~~~ Page 5 P.T.O.



4. U BH o foges W feufa faaor # e mn wi=) T 2,00,000 o7 | B
HT 50% Th ATHER 5 T 65,000 H o o7 a1 3 50% ! & o3 d 20%
HH T O T | Sk QId o A8 Y& ° Wdlt bl T8 s oft -

(a) ¥ 1,45,000 (b) T 80,000
(¢ ¥ 65,000 @ ¥ 1,85,000

5. ofd fdfide 7 T 10 39 & 5,000 THaT 379, e T 5 gfa 31 & Aftmm w
it fopem o o, = 4 wfaq o7 i o w@ 3Afaw IMEAT W PTAE T HH W
0T L ToTaT | 80T WX ‘3T B0 W’ o ST 98T § @1 shl T8 T BT
(a) ¥ 20,000 (b) T 30,000
(¢) ¥ 50,000 (d T 55,000

FHeferiaa Heqi4e 1Tfd &1 9ieT To1 399 &1 T8 a1 & 7GR | 397 G&I1 6 797
7 & I T :
ShITE, T qAT JIRI ARIER & TAT 3: 2 : 1 ok UG H AH-FIH died & | 3Teh!
TR St A T 12,00,000, T 10,00,000 TAT T 8,00,000 off | I8 HEHIA 73
5 ISt W = 10% atfies gt & fom S | dreier 9 TR & 9ad % §haR
B
%@ T 5,000 Ui A TAT W T 3,000 FfT fwm@d |
31 HT=l, 2022 ! THTH §T 99 § HH 1 9 T 6,72,000 T |
6. TIERI % =] @Al % W 9§ § St W S A 9ad ok T @t S
ST aTeft TSy of
(a) @ T 1,20,000, FM T 1,00,000 R R T 80,000
(b)  h¥E T 1,80,000, FM T 1,12,000 3R TR T 80,000
(c) hIE T 60,000, FM T 12,000 IR G T I
(d $IE T 3,30,000, FM T 2,12,000 3R TH T 1,30,000
7.  HIIERI % =Te] WAl § gEaand i S areft @y i ufdy of
(a) I T 1,00,000, FM T 1,50,000 T T T 50,000
(b)  ¥E T 50,000, FM T 1,50,000 T G T 1,00,000
(¢ @ T 1,50,000,F®M T 1,00,000 dT G T 50,000
(d Y€ T 1,51,500, FT T 1,01,000 G251 G T 50,500
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On dissolution of a partnership firm, furniture appearing in the Balance
Sheet was ¥ 2,00,000. 50% of the furniture was taken over by a partner
at T 65,000 and balance 50% was sold at 20% less than the book value.
The amount debited to bank account was :

(a) ¥ 1,45,000 (b) ¥ 80,000
¢ T 65,000 @ T 1,85,000

Chavi Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a
premium of ¥ 5 per share for non-payment of first and final call of ¥ 4
per share. On forfeiture, ‘Share Forfeiture Account’ will be credited by :

(a) ¥ 20,000 (b) T 30,000
(¢ ¥ 50,000 @ T 55,000

Read the following hypothetical situation and answer questions number

6 and 7 on the basis of the given information :

67/4/3

Keshav, Krishna and Murari were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. Their fixed capitals were : ¥ 12,00,000,
< 10,00,000 and ¥ 8,00,000 respectively. It was agreed that interest on
capital will be allowed at 10% per annum. Partners were entitled to
salaries as follows :

Keshav ¥ 5,000 per month and Krishna ¥ 3,000 per quarter.

Profit of the firm for the year ended 315* March, 2022 was ¥ 6,72,000.

Amount credited to the Partners’ Current Accounts on account of ‘interest
on capital’ and ‘salary’ was :

(a) Keshav T 1,20,000, Krishna ¥ 1,00,000 and Murari T 80,000
(b) Keshav T 1,80,000, Krishna ¥ 1,12,000 and Murari ¥ 80,000
(c) Keshav ¥ 60,000, Krishna ¥ 12,000 and Murari ¥ Nil

(d) Keshav ¥ 3,30,000, Krishna ¥ 2,12,000 and Murari ¥ 1,30,000

Amount of profit transferred to Partners’ Current Accounts was :

(a) Keshav ¥ 1,00,000, Krishna ¥ 1,50,000 and Murari ¥ 50,000
(b) Keshav ¥ 50,000, Krishna ¥ 1,50,000 and Murari ¥ 1,00,000
(c) Keshav T 1,50,000, Krishna ¥ 1,00,000 and Murari T 50,000
(d) Keshav T 1,51,500, Krishna ¥ 1,01,000 and Murari ¥ 50,500

—~ Page 7 P.T.O.
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(1)

(i1)

31, A Ao F U HH  WTEER & 91 5: 31 2 % A § i
fa9TeM td 9 | 1 SHaRY, 2022 i G 1 Feq & T | A a9 95,
HI % W o1 AR =1 ST § &l
(@ 1:1 (b)
(c0 5:3 (d)

AAAT

fafca, gwa e wHiar ueh ®H | AEGR o q97 4 : 3 : 19 3T § ATHI
&1 faursH ot 9 | i &1 fga g1 a9 3ueet a| 9 fafgg 3 |
forn | fafea den giua o1 73 anv-fauTSF 379Ta g

(a) 1:1 (b) 5:3
(c) 3:5 (d) 5:2

foo qem 39w T WU % HEER § | TEER T@ % STIER SR W
12% dT¥eh e 8 A9 T SATW | 3760 W ST bl ATH-g1 o= @ 8

g i o fou F=fafed & 9 -8 @ % 9 98 § @il
STt 2

(a)
(b)
(c)
(d)

(1)

AT YT ST Tl
EERCIRI]

greigii < =Te] @

TTEr o Yeft @

qaEd ffids 9 T 10 I % 50,000 THAT 7901 i a0 ey R frifaa

N o

S o O e mta fohe | Ui 19 Uiyt &1 ymae = Jer &
q1

%f&“

W T 3; e W T 4 9T Y99 T Af<H I=AT R T 3 |
1,45,000 FHAT 3T < fe7q 371G T Y | 20,000 3 % G Pl
T8 L T T Q9T I 2ATAEehl Sl STTUTRASH SATUR T A I AT
foram TR | SATIe W aTH 3faficE TR T THTSE SATEe 9T YUH U9
JAfeaq =T X F THRT § K foram o | S1fim I @id o s uet |
<1 T8 @ <hY Tl off

(a) ¥ 2,25,000 (b) T 25,000
e ¥ 1,75,000 @ I3
AT

-~~~ Page 8
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(1) Anu, Monu and Sonu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Monu died on 15t January, 2022. Anu and Sonu
will acquire Monu’s share in the ratio of : 1

(a) 1:1 (b) 3:2
(c) 5:3 d 5:2
OR

(i1)  Vidit, Sumit and Mita were partners in a firm sharing profits in
the ratio of 4 : 3 : 1. Mita died and her entire share was taken up

by Vidit. The new profit sharing ratio of Vidit and Sumit will be : 1
(a) 1:1 (b) 5:3
() 3:5 d 5:2

Vijay and Ajay are partners in a firm. The partnership agreement
provides for interest on drawings @ 12% per annum. Which of the
following account will be debited to transfer interest on drawings to
Profit and Loss Appropriation A/c ? 1

(a) Interest on Drawings Account
(b)  Bank Account

(c) Partners’ Current Account

(d) Partners’ Capital Account

(i) Manmohan Ltd. invited applications for issuing 50,000 equity
shares of ¥ 10 each at par. The amount payable per share was as
follows :

On application ¥ 3; on allotment ¥ 4 and on first and final
call ¥ 3.

Applications were received for 1,45,000 equity shares. Applications
for 20,000 equity shares were rejected and remaining applicants
were allotted shares on a pro-rata basis. Excess application money
received with application was adjusted towards sums due on
allotment and first and final call. Amount credited to

calls-in-advance account was : 1
(a) ¥ 2,25,000 (b) ¥ 25,000
(c) < 1,75,000 (d Nil

OR

—~ Page 9 P.T.O.



(i)  3tfea ot o faw § frafafed @ & SH-81 %oF 981 7 ?
(a) %mﬁﬁaﬁ'rﬁ%ﬁﬁwm%ﬁﬁ%ﬁaﬁ%sww

(b) %ﬁﬂﬁﬁﬂ%m%ﬁﬁaﬁzﬂ%mmﬁ
gredfaes &9 ¥ fifia feram mm g

(c) %‘s'ﬁﬁfﬁﬁﬁwa‘s'w%ﬁlﬁwmﬁqlmqﬁaﬁaﬁ%m
|

(d) Ig IAfaa (AT TR) Sl 1 98 W & 8 SmIaiehl @ arfa
€9 ¥ yTH foRm T R |

11. (1)  quer fafes 9 T 100 9@ % 2,00,000, 7% FOGHAT i 5% qg W
frifia feren, e Wem 5% Hiftem W T 2 | ol & i @
g qA Wed W Nftem &1 o Seome e g1l @@l & mesw 9
foram mm | worE & e W Sroe e w1l @’ § @d 6
GTQ"ﬁ:
(a) ¥ 10,00,000 ¥ ST 9&T H
(b) ¥ 10,00,000 ¥ =19 9& ¥
(¢) T 20,00,000F 9 98T T
(d T 20,00,000 § 54T 9&T H

AAAT

(i)  <re fafieg 3 T 100 I % 4,000, 9% U I 10% G R FHfHd
Tora frmept sem it W o ST o | SeorEt o e @ w87 iR
SRoTEl o wiEd W W w1 @ Seode e g1 w | & arem 9
fopam | =fe Soom T 1R @ § T 60,000 9, A RO

e ) fiferm 6 afer of -
(a) T 60,000 (b) T 40,000
(¢ T 20,000 (d T 80,000

12, T, G 990 T H BH & foged | aft a2 GG S & fTT
ng%@:fmsﬁ T 14,500 1 YTaH T T | GGt & STEdfeeh
SR} T 11,000 T PTAH R gRT Toham T |

T o YSf WA o ST 98 H @l shl ST are! TRT ge
(a) ¥ 11,000 (b) ¥ 3,500
(© T 14,500 (d T 25500

67/4/3 ~ N~~~ Page 10



11.

12.

67/4/3

(ii))  Which of the following statement is correct regarding subscribed

capital ? 1

(a) It is the amount of share capital which a company is
authorised to issue by its Memorandum of Association.

(b) It is that part of authorised capital which is actually issued
to the public for subscription.

(c) It is that part of the issued capital which has been actually
subscribed by the public.

(d) It is that part of the called-up capital which has been
actually received from shareholders.

(1) Anuradha Ltd. issued 2,00,000, 7% debentures of ¥ 100 each at a
discount of 5% redeemable at a premium of 5%. Discount on issue
and premium on redemption were accounted for through ‘Loss on
Issue of Debentures Account.” On issue of debentures, ‘Loss on
Issue of Debentures Account’ will be : 1

(a)  Credited by ¥ 10,00,000
(b)  Debited by ¥ 10,00,000
(c) Debited by T 20,00,000
(d)  Credited by ¥ 20,00,000
OR
(i1) Diksha Ltd. issued 4,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium. ‘Discount on Issue of
Debentures’ and ‘Premium on Redemption of Debentures’ were

accounted for through ‘Loss on Issue of Debentures Account’. If the
amount of ‘Loss on Issue of Debentures Account’ was ¥ 60,000,

then the amount of premium on redemption was : 1
(a) < 60,000 (b) T 40,000
(c) T 20,000 (d) < 80,000

On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had
agreed to bear all realisation expenses for which he was paid ¥ 14,500.

Actual expenses on realisation amounted to ¥ 11,000 which were paid by

Naresh. The amount to be credited to Naresh’s capital account will be : 1
(a) < 11,000 (b) ¥ 3,500
(c) T 14,500 (d T 25,500

~ Page 11 P.T.O.
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(1)

(i1)

A, T FEGR 4 1 FaE, 2020 H T 1,20,000 T KT FBH hI
foon | wrge gore it erqufeafa § 31 A, 2021 1 FT W T N
<1 ufsr gnf

(a) ¥ 3,600 (b) T 7,200
© ¥ 12,000 @ T 6,000
YT

forera, 79T 91 G Ueh BH o HEICR & ad A8+ 7:5:8 %
U | dled & | 28 3T, 2021 i G919 61 §J & T3 | gog il fafe
Toh U o AUl § 3IHeh WHT hl TUET T 75,000 i 5 | SEh! @aiHt
fafafRaa # 9 w198 @ & 90 987 § GqiHl e I S ?

(a) ATY-BI I=d @

(b)  ATH-EIH Grdr

[N N e NN

(c) NIEEJICRCIERISERCIG]

(d) AH-I FHRSH Tl

AP (4): BH % THST W THh Il o Hod H F@iald ol @art

e @Td % 19 98 | 6l Il 7 |

FRT (R) : IS % qod ¥ gfg B Bt B |
fafafga @ 9 92t faemeq <1 ==@ FifST

(a)
(b)
(c)

(d)

heH (A) Tl 8, Teg RO (R) T4 2 |

AMYH (A) TTeAd 8, T RO (R) T& 7 |

ANMHAT (A) TAT RO (R) ST Tl & 9T SR (R), IT1heH (A)
& e B |

ARHIT (A) TIT FROT (R) ST T & |

-~~~ Page 12
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(1)

(ii)

On 15t October 2020, Amit, a partner, advanced a loan of
T 1,20,000 to the firm. In the absence of partnership deed, the

amount of interest on loan to be paid on 315t March, 2021 will be :

(a) ¥ 3,600 (b) T 7,200
¢ ¥ 12,000 @ T 6,000
OR

Vijay, Ajay and Sanjay are partners in a firm sharing profits and
losses in the ratio of 7 : 5 : 8. Sanjay died on 28t® August, 2021. His
share in the profits of the firm till the date of his death was
determined at ¥ 75,000. It will be debited to which of the following
accounts ?

(a)  Profit and Loss Suspense Account

(b)  Profit and Loss Account

(c) Profit and Loss Appropriation Account

(d)  Profit and Loss Adjustment Account

Assertion (A) : Increase in the value of liabilities on reconstitution of a

firm 1s debited to Revaluation Account.

Reason (R): Increase in the value of liabilities is a loss.

Select the correct alternative from the following :

(a)
(b)
(c)

(d)

Assertion (A) is correct, but Reason (R) is wrong.
Assertion (A) is wrong, but Reason (R) is correct.

Both Assertion (A) and Reason (R) are correct and Reason (R) is

the correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are wrong.

~ Page 13 P.T.O.
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T BH 6 T 6l AT IS IR et o Hd oY o | 9Nl b A b
HIUR R H1 715 | 31 /= ! GATH §C IS =R ¥ o o9 o

o /1 (%)
2018 — 19 (14,500)
2019 — 20 15,400
2020 — 21 32,900
2021 — 22 16,800

®H T TR T oI BT

(a) T 8,885

(b) T 37,950

(c) T 58,950

(d) T 20,690

fiar, T qen eI ATSeR 9 AT 4 : 3 : 2% AU H A9 Sied o | BH 6
gTed qX fiaT qen 9T Yok 9 Wi H 9§ % 9T w6t <d 7 | e, T

qe e o1 = Ary-fawTsH s1gdTa g

(a 3
(b) 2
o 4:
d 3

Hesl qUT T Th BH o FEER 9 aA1 2 : 1% I H o9-g1 1 fauee
9 | IR A et # S 3 fere arsiet & v fe | e
gt & fou = 2,00,000 T @nfa Siftem & fow stawges Ul T @ | B
# @nfa & gt T 12,00,000 fRar T | WEER HT T o-fawe
IATT 2:1: 197 | TS U7 G F 37U YT 6l SATfd T AW K o= |
%l I TEAhl T ITYTH el o oI 31awares U= gfafseat Hife |

NN W R
N O N
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15. The goodwill of a firm was valued on the basis of 3 years purchase of

average profits for the last four years. The profits of last four years

ending 315t March were as follows :

Year Profit/Loss (3)
2018 -19 (14,500)
2019 - 20 15,400
2020 — 21 32,900
2021 - 22 16,800
The value of goodwill of the firm was :
(a) T 8,885
(b) % 37,950
(c) T 58,950
(d ¥ 20,690
16. Niva, Naman and Nityam were partners sharing profits in the ratio of
4 : 3 : 2. Niva and Naman each give — from their share to Nityam on
reconstitution of the firm. The new profit sharing ratio among Niva,
Naman and Nityam will be :
(a) 3:4:2
(b) 2:3:4
(c) 4:2:3
d 3:2:4
17. Mahesh and Suresh were partners in a firm sharing profits and losses in
the ratio of 2 : 1. They decided to admit Nita into partnership with ith
share in the profits. Nita brought ¥ 2,00,000 for her capital and the
requisite amount of goodwill premium in cash. The goodwill of the firm is
valued at ¥ 12,00,000. The new profit sharing ratio of the partners is
2 :1: 1. Mahesh and Suresh withdraw their share of goodwill.
Pass necessary journal entries in the books of the firm for the above
transactions.
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1 30, 2021 & fgaw fafies 3 aoe fofies it T 8,00,000 i
giEaf@l dem T 40,000 I CHAST HIOAEIET T 8,30,000
%d Oed W fohan | fgaw fetfies 3 woe fafies it yam 7= y&r &
EDI

(i) T 2,00,000 I TH TR g AT A ATE I9ETG I off, qe

(i) W fAafiee # AT 5 oI H PAH T 100 TAF 5 10%
FROTIT Bt 10% o R Fifia ek fopam mam |

3T el 1 Ty fdfids i q&aehl # <@l & @ folu Eweeh

=N fafseat Hife |

AT

feam fafies 9 £ 100 Y& & 500 =0 & = 10% HfEm «
fifira fopam o qen 5= W = 90 wfa o1 @ U 9, T 30 wfq ™
arrered (Sfiftrm afgd) don = 20 Ufd 791 YoM IM=AT 1 PTAHE 7 i T
&1 Rt 3T | ST/ | 300 37T I T 80 Wi 3191 qUT Jgd YH: o &t
femm mm |

3T o g7 qn YH:FRTe <t STraveres U= wfafseat Shife |

Hifeh1, SfeehT TAT HHICToR FTHER & AT 6 : 4 : 1 h I H oY
Siecht & | HHITCIST sl AT T 3794 9W % fIT T 3,00,000 HT =[IaH
iy 1 TR & T B | 31 W, 2022 I THH FC a9 H HH I
3 22,00,000 I Ig AIH I |

31 AT, 2022 ! FHH BT a¥ & [AC BH 1 AH-H faf=em @
da AT |

AT
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18. (a) On 15t April, 2021, Hitesh Ltd. took over assets of ¥ 8,00,000 and
liabilities of ¥ 40,000 of Pranjal Ltd. at an agreed value of
T 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as

follows :

(i) Gave an acceptance payable after 3 months for ¥ 2,00,000,
and

(ii)  Issued 10% Debentures of ¥ 100 each at a discount of 10%
to Pranjal Ltd. in satisfaction of the balance amount of
purchase consideration.

Pass the necessary journal entries to record the above transaction
in the books of Hitesh Ltd. 3

OR

(b)  Disha Ltd. forfeited 500 shares of ¥ 100 each issued at 10%
premium, ¥ 90 called up, on which the shareholders did not pay
T 30 per share on allotment (including premium) and first call of
T 20 per share. Out of these, 300 shares were reissued for ¥ 80
per share, fully paid up.

Pass necessary journal entries for forfeiture and reissue of shares. 3

19. (a) Monika, Bhoomika and Kamolika are partners sharing profits in
the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of
T 3,00,000 as her share in profits. The firm earned a net profit of
T 22,00,000 for the year ended 315t March 2022.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 315t March, 2022. 3

OR
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(@) o=, 9t a9 Jicd Th BH H Areigr off qur 3Tk Uit Shu:
T 3,00,000, T 2,00,000 AAT T 1,00,000 off |
TR Gei@ o g™l o TIER :
(i) =T qAT FleAt ¥k T 1,500 TGk 9 bl geher of |

(i) W& T 4,000 TS Ia- hl FeheR ot |

39Yh FHMISH! i Ty fomT 31 wr=l, 2022 hl @HTH gL oW % AW
T 80,000 I ATEERT & o9 3 ATH-TI9H 3@ 3 : 3 : 2 | di¢
T |

ST I B IR B o (€ BH Hl &l § AE9TH YAl
yfafse Shifsre | 0t et fewaforn st wose w9 @ gwifse |

atfef, STel TUT Y Th HH H AISCR & T1 5: 3 : 2 % UM § ATH-RIH 1
faueM &t & | TR IS A T 5,00,000, T 4,00,000 TAT T 2,00,000
off | wreier) Tog o frferfaa s yaem o

(®) 10% ATt R ¥ ISl W AW |

(@) 6% a1f¥eh g | IME W A |

(1) % ! GEER g fou T Re W 99 arfie X A S |

g9 % NE AR 4 T 60,000 T Fiel 4 T 50,000 HT ATEE fRAT |
1 faawr, 2021 1 9 5 BH &I T 40,000 T R0 T |

31 HrE, 2022 ! 9H T 99 % U Fefafad e i w1 H qEdenl o
JEYTH U= fafsedt Hifa .

(i) el Sl IS W AN JGH B o AT |

(i)  Afeld o AW W AT JHRG i o AT |

(iii) %Y GRT BH ol TG T R0 W AN YgH HH o T |

iy & AW U B Gd/AY g g fafieee @ 1, S o et e,
AT gfafseat i |
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(b)  Ananya, Bhavi and Chandni were partners in a firm with capitals
of ¥ 3,00,000, T 2,00,000 and T 1,00,000 respectively.

According to the provisions of the partnership deed :

(1) Ananya and Chandni were each entitled to a monthly salary
of T 1,500.

(i1)  Bhavi was entitled to a salary of ¥ 4,000 per annum.

The profit for the year ended 315t March, 2022, ¥ 80,000 was
divided between the partners in their profit sharing ratio of 3 : 3 : 2

without providing for the above adjustments.

Pass the necessary adjustment entry to rectify the above omissions

in the books of the firm. Show your working notes clearly. 3

20. Aditi, Bobby and Krish were partners in a firm sharing profits and losses
in the ratio of 5 : 3 : 2. Their capitals were T 5,00,000, ¥ 4,00,000 and
T 2,00,000 respectively. The partnership deed provided for the following :

(a) Interest on capital @ 10% per annum.
(b)  Interest on drawings @ 6% per annum.
(c) Interest on partner’s loan to the firm @ 9% per annum.

During the year, Aditi had withdrawn ¥ 60,000 and Bobby ¥ 50,000.
On 15t September, 2021, Krish had given a loan of ¥ 40,000 to the firm.

Pass necessary journal entries in the books of the firm for the following
transactions for the year ended 318t March, 2022 :

(1) Allowing interest on Bobby’s capital.
(ii))  Charging interest on Aditi’s drawings.
(iii)  Providing interest on Krish’s loan to the firm.

Also pass transfer entries in the Profit and Loss Account/Profit and Loss

Appropriation Account, as the case may be. 3
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ehTST, RIS AT TehTd Ueh SIGET™ o HTEIGR & AT 2 : 2 : 1 o FUd H

AT ! Sfed o | 31 HM, 2022 i 3T et foawor =1 g o

31 HT=, 2022 1 TR, ATRTI a7 fererta ot fearfa feraon

- :T:?T . :TI?T
TER 2,00,000 | S 40,000
= g= 1,00,000 | i 60,000
g SR 1,60,000
FEIN 1,20,000 IEER] 1,40,000
AR 2,00,000 iy 70,000
IEEIL 80,000| 4,00,000 | e 2,30,000
7,00,000 7,00,000

30 foarar, 2022 1 fashmE i g & T | TH HHER H g W TR Hord

7 =

(1)

(i1)

(iii)

(iv)

<l YTIYTE AT .

Hcg h! fdfy T Has ATEGR I 9 H 3G WA TRl 0T, TU=d

TN & ATH o YR W hl ATt |

H bl ©ITTd | IR 9T fS&ehl AT fUsd =) a9t o 3fiEd a1 &

T It & %I & YR W hi AT |

31 9 ! @qTH fUsd I) 9ui & @y = R 9
2018 - 19, ¥ 1,60,000; 2019 — 20, ¥ 1,00,000; 2020 — 21, T 80,000

a1 2021 - 22, ¥ 60,000.

7y hi T o Feeh TSGR 1 3TEW T 20,000 T |

IS W AN 12% a1 & & fean smam |
fopra & IaufeeRIien 1 wegd i & fo faema &1 4ot @rar dam A |

a2 2o 2o 4
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21. Prakash, Aakash and Vikas were partners in a business sharing profits
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022 was as
follows:

Balance Sheet of Prakash, Aakash and Vikas as at 315t March, 2022

Liabilities Am;unt Assets Am;unt
Creditors 2,00,000 | Bank 40,000
General Reserve 1,00,000 | Stock 60,000
Debtors 1,60,000
Capitals : Investments 1,40,000
Prakash 1,20,000 Furniture 70,000
Aakash 2,00,000 Building 2,30,000
Vikas 80,000 | 4,00,000
7,00,000 7,00,000

Vikas died on 30th September, 2022. On the death of a partner the

partnership deed provided for the following :

1)

(i1)

(iii)

(iv)

Deceased partner will be entitled to his share of profit up to the

date of death calculated on the basis of previous year’s profit.

His share in the Goodwill of the firm, calculated on the basis of
3 years purchase of average profits of last four years. Profits for
last four years ended 315* March were as follows :

2018 - 19, ¥ 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
and 2021 — 22, ¥ 60,000.

Drawings of the deceased partner up to the date of death were

< 20,000.

Interest on capital was allowed @ 12% per annum.

Prepare Vikas’s Capital account to be rendered to his executors.

67/4/3
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TR TS 1 T 10 TAh o FHaT =M H a9 T 20,00,000 i ATehd
gt off | S T 60,000 I o TRMHA % U sweEd amwb@ T |
58,000 3721 % fOTT 3TEET 93 WH 3T |

gft IEETE A Sl M e 2,000 M W T 3 Ul W hl f=H Im=ET B
Bierd Gt ITH 81 T8 | 37 3T BT 80T T foram T |

Ht AfufEm, 2013 i AT I, W I 3 AJIR 3 ISl Sl U &
feyfa foawo o quisy | 35 & fou @i & A’ off TR il |

Th ®H o faged W fafte gfmwafam (Tee o 31fdafics) aon e <Ianstt sl

o

T @d H a0 & qvErq FEfTiad ol o folt, 3esses Usim

yfafseat S -

(i) T 2,600 % HH % T A B PTAE Th HBIGR, A g Toha
0 |

(i) ¥ 4,500 % Th THGR 7 T 5,200 HeF I Teieh U Hueq ¥ o fo= |

(i) T IAfAREd TFIT & T 3,500 1 IgA T3 |

(iv) ¥ 20,000 % AY TSR I 5% g T YT HL fGam T |

(v) T 30,000 Y Tih hl Th ATER, fo0a, 7 20% o W o fom |

(vi) ot e sifea gea T 10,000 o, & 40% 6T SEH T3 |

ffafgd oFel o fau g fafiee 6 gl d ®omai & frima &

AR VST Tfafseal il

i) T 100 9% & T 10,00,000, 9% OIS T 10T 10% g W T
ST seq 9 aui o 9veTq. 5% e @ fohan S 8 |

(i) ¥ 100 Y& % T 30,00,000, 8% FOGAT 1 FFHT FHIH T fopam T
et e 5% fiftem W foeen ST B

(iii) ¥ 100 II% o 6,000, 9% T w1 FHT 10% Hfmm w® feam mn
et e 5% Hiftem 9t foman ST B
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Sunstar Ltd. has an authorised capital of ¥ 20,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 60,000
shares. Applications were received for 58,000 shares.

All calls were made and were duly received except the final call of ¥ 3
per share on 2,000 shares. These shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same.

Pass necessary journal entries for the following transactions on the
dissolution of a firm after various assets (other than cash) and outside
liabilities have been transferred to Realisation Account :

(1) Realisation expenses of the firm amounting to ¥ 2,600 were paid

by partner, Aman.

(i1) A creditor of ¥ 4,500 took over stock valued at ¥ 5,200 in full
settlement.

(i11) An unrecorded asset realised ¥ 3,500.

(iv) Remaining creditors amounting to ¥ 20,000 were paid at a
discount of 5%.

(v) Remaining stock of ¥ 30,000 was taken over by Bimal, a partner,
at a discount of 20%.

(vi) Investment whose face value was ¥ 10,000 was realised at 40%.

Pass the necessary journal entries for the issue of debentures in the
books of Amrit Ltd. for the following transactions :

(1) Issued ¥ 10,00,000, 9% Debentures of ¥ 100 each at a discount of

10%, redeemable at a premium of 5% after three years.

(ii) Issued ¥ 30,00,000, 8% Debentures of ¥ 100 each at par,

redeemable at a premium of 5%.

(iii) Issued 6,000, 9% Debentures of ¥ 100 each at a premium of 10%,

redeemable at a premium of 5%.
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(%) oW a1 B9 TH BH HI ATEIGR off qAT 5 : 3 o AT H ATH-ZIH Sedt
off | 1379, 2022 i 35 3fefd & T AEer s | 37 fafy =
et fedfa feaawor fe g o

1 3T, 2022 T YU a1 BT 7 fearfa e

gt e 3,80,000
g 3,20,000 HrATa 50,000
B 3,40,000 | 6,60,000 | THER 2.30,000

= = 80,000 | i 1,50,000

Seh T 60,000 | ThsS 50,000

TER 60,000

8,60,000 8,60,000

aﬁﬁrﬁﬁmﬁf@awﬁmwﬁﬁém%fmﬁﬁmﬁmw:

1)

(i1)

(iii)

(iv)

atfefa = 3,00,000 379t ISl < &9 | AT |

JAfefa warfa o=y 1 9T 91 Te el | wH h T
HedTeh fUsel 19 a9l o 39d A9 % Gl a9 o Y o STURX T

(e N o

fopam T | fUS fi9 99T @ 3T 19 T 60,000 o |

Hefil ST e T 4,60,000 TR TR |

i o Sf 1 ISl 1 FEREISE =19 @Td @it ek i gsh
o TR W fopa T |

YHEATRA @1 qAT HIBIEN o6 YSi @d dIR hIT |

AACAT
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25. (a) Bhumi and Chavi were partners in a firm sharing profits and
losses in the ratio of 5 : 3. They admitted Aditi in the firm on
18t April, 2022. On that date their Balance Sheet was as follows :

Balance Sheet of Bhumi and Chavi as at 15t April, 2022

A t A t
Liabilities T2 | Assets e
Capitals : Machinery 3,880,000
Bhumi 3,20,000 Furniture 50,000
Chavi 3,40,000 | 6,60,000 | Debtors 2,30,000
General Reserve 80,000 | Stock 1,50,000
Bank loan 60,000 | Cash 50,000
Creditors 60,000
8,60,000 8,60,000

. : : 1 :
Aditi was admitted in the firm with — share in profits on the

following terms :

(1) Aditi will bring ¥ 3,00,000 as her capital.

(i1)  Aditi will bring her share of goodwill premium in cash.
Goodwill of the firm was valued on the basis of two years
purchase of average profits of the last three years. Average

profits of the last three years were ¥ 60,000.
(i11) Machinery was revalued at ¥ 4,60,000.

(iv)  The capitals of Bhumi and Chavi were adjusted on the basis

of Aditi’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR
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(@) AT, ST qen AT ETeeR off 9°1 50 3 : 2 o AU H TH-gIH Sl
off | 319/, 2022 i 31 fedfa foawor =1 g o

31 W=, 2022 1 TAT, A1 qor =T 1 feufa feawo

N 11;‘:31 N TI'ST
IGEALS 66,000 | HI=R 1,12,000
o foa 59,000 | ¥ieh 1,77,000
TER 2,80,000
gt Eralit ]
T 2,00,000 & fow g™ 7,000 | 2,73,000
d91 2,00,000 Ths 63,000
EACIl 1,00,000 | 5.00,000
6,25,000 6,25,000

39 Tl ! T Frefeiea st W ar-gd & T

(i)  ®H s TSAIMT 1 JeaTehd T 60,000 ToRaT 7T T&AT THT o BT
YT ! Y IEERT & IS @Al & 7eaw 8 gErig s e

T |

(i) =R W T 10,000 FeISE T T |

(iii) T I SET a1 AT G AW MW Ashg o HIEIH F P 34
bR TRl ST & Toh ekl Yol 3ok AT & oo o1qurd 1: 1
H gl S |

YHEATRA @1 qAT HISIEN o6 Yol @d dIR hIT |
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(b)

Anna, Bina and Teena were partners sharing profits and losses in

the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2022 was

as follows :

Balance Sheet of Anna, Bina and Teena as at 315t March, 2022

Liabilities Amount | 4 ccets Amount
Creditors 66,000 | Furniture 1,12,000
Bills Payable 59,000 | Stock 1,77,000
Debtors 2,80,000
Capitals : Less — provision for
Anna 2,00,000 bad debts 7,000 | 2,73,000
Bina 2,00,000 Cash 63,000
Teena 1,00,000 | 5,00,000
6,25,000 6,25,000

On the above date, Anna retired on the following terms :

(1) Goodwill of the firm was valued at ¥ 60,000 and Anna’s share of

goodwill was adjusted through the capital accounts of remaining

partners.

(i1)

(ii)

Furniture was depreciated by ¥ 10,000.

Anna was to be paid through cash brought in by Bina and Teena in

such a way as to make their capitals proportionate to their new

profit sharing ratio of 1 : 1.

a2 2o 2o 4

Prepare Revaluation and Partners’ Capital Accounts.
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()

(1)

Iy fafies 3 T 10 398+ % 50,000 THAT 3 Bl 10% HEEH W
fifia s @ foTu s1aed b fohe | Uit w1 Yam = TR & @

g7 .

ded W T 3 9fd 31 feed W (fiftem wfga) T 3 fa o791 aen yem
ug fy AT AN i

1,20,000 371 o AT TG U6 FU | AT 1 & AINAh IR
w gt 3mdgen i W fear M | 3mded W ye srfafee wfst W
THTASH 3Tee X ¢F TR H L f&am T | 3f1eed W ¢ 37ded Uiy 4
JAfYeh [T a9 o & T | U IWURS e 6,000 M & faU
3T foham o, Jem wa SAfeqw Fr=AT TR 1 YA A& L Hehl e
3Gk ST T FOT HL ol T | T RT T 3T T 60,000 O
mgﬁ:ﬁﬁWWW|

3T e o ToTT w1 fafide 1 qeaehl § STawaeh UsHM=T Slafsedr

ST |
AT

afear fAfide 9 10 I3 & 5,00,000 FHAT 3790 Bl 10% FfEH |
frifa e o faT T g=hes IRt R | s @1 grae = TR |
ézf?ﬂ:

AAed W T 3 Ufd 37, 3meed W (Hifiw afgq) = 5 ufa o191 aon gem
g 3~ IreA1 W T 3 Ufd A9 |

6,00,000 =l o foIT 3ffeed WTH BY qo Wl SATdeehl i AT
WWWWWWW|WWW3@WW@W
TS 3TEeT W ¢F U § o fean m I‘v'r‘lﬁéarrﬁfrslmﬁﬁ
et gt & sfafis, Gﬁloooaasﬁaﬂwsm qT AT 9 qIH
Ug 3ifcH IMEET B PTaE wH B 6 & B 3T T FWT T
foram |
srorar fafee 1 gedeni § IUYH Gl o [olC AR USTHTH
yfafseat HifST | Tl TavEes 8 3Ted I Gial ity |
R IRRC]
fawea - 1
(Tearitar ferawoni <1 fargerwor)
Fr=afafaa # @ foroent gftom Tshe Jatg B 2
(a) d% ¥ T 50,000 T TS L
(b) WA % AYfahalati @l T 2,00,000, 9% U9 1 fHHA
(¢) <Feri § T 30,000 i 9TfH

(d) <% H T 20,000 % =% ST fhT
AT
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26. (a) Yash Ltd. invited applications for 50,000 equity shares of ¥10 each
at a premium of 10%. The amount was payable as follows :
On application ¥ 3 per share; on allotment (including premium)
T 3 per share and on first and final call, the balance amount.
Applications were received for 1,20,000 shares and shares were
allotted on pro-rata basis to all applicants. The excess money
received on application was to be adjusted towards sums due on
allotment. Application money in excess of sums due on allotment
was refunded. A shareholder who applied for 6,000 shares could
not pay the first and final call money and his shares were forfeited.
The forfeited shares were reissued for ¥ 60,000 fully paid up.
Pass necessary journal entries for the above transactions in the
books of Yash Ltd. 6

OR

(b)  Ajanta Ltd. issued a prospectus inviting applications for issuing
5,00,000 equity shares of ¥ 10 each issued at a premium of 10%.
The amount was payable as follows :
On application — ¥ 3 per share
On allotment (including premium) — ¥ 5 per share
On first and final call — ¥ 3 per share
Applications were received for 6,00,000 shares and pro-rata
allotment was made to all applicants. Excess money received on
application was adjusted towards sums due on allotment. All
amounts were duly received except from Sumit, who was the
holder of 1,000 shares, and failed to pay the allotment and first
and final call. His shares were forfeited.

Pass journal entries for the above transactions in the books of

Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following will result in flow of cash ? 1

(a) Cash withdrawn from the bank ¥ 50,000
(b) < 2,00,000, 9% debentures issued to vendors of machinery
(c) T 30,000 received from debtors

(d)  Cheques of ¥ 20,000 deposited in the bank
OR
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(i1)

o 0

T 999 G ®4 A The-qed T Il 8 had adl & g&eh!
MY TG HH B, IR e, i AU i Gfyr T |

(a) < &M AYan feen
(b) B: HEM YA HH

(¢c) Ueh IY 3T hH

(d) 9 wEH Tuar w9

o~

LN

(a)
(b)
(c)
(d)

Rgd W & IH-91 MYH-GHAT TATT 7g7 @ ?
fae | g™

TS AT AT

TaTtHed 3T

P I 9T RO TIITd

{hg JaT8 foeiul s @9 T focild ol g1 WTH &S0 0 afichd fehalm

QT

(a)
(b)
(c)
(d)

1)

(i1)

T nfafafa & wa d
=T Tidfafer & ®9 §
o nfafafy & wa &

~

Uhg T Uhs dod o &9 A

If¢ I 99 § Y= § AW T 10,00,000 g TAT Fohad ATH, AR T
25% &, Al T § AN hl AT BT

(a) ¥ 2,50,000 (b) ¥ 12,50,000
e ¥ 2,00,000 @ < 8,50,000
YT

Ifg 3 fAfide 1 J=TeH 19T 60% @, A1 SHeRT J=TeH oY 19T
@TIT:

(a) 100%
(b)  60%
(c)  40%
(d) 160%
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(i1)  An investment normally qualifies as cash equivalent only when it
has a short maturity, of say, from the date of acquisition. 1

(a) Three months or more
(b) Six months or less
(c) One year or less

(d) Three months or less

28.  Which of the following is not a Solvency Ratio ? 1
(a)  Return on Investment
(b)  Interest Coverage Ratio
(c) Proprietary Ratio
(d)  Total Assets to Debt Ratio

29. While preparing Cash Flow Statement, ‘Interest received’ by a finance
company is classified as : 1
(a)  Financing activity
(b)  Operating activity
(c) Investing activity

(d) Cash and cash equivalents

30. (@) If revenue from operations is ¥ 10,00,000 and gross profit is 25%

on cost, cost of revenue from operations will be : 1
(a) < 2,50,000 (b) < 12,50,000
(c) < 2,00,000 (d < 8,50,000
OR
(i1))  Ifthe operating ratio of Aman Ltd. is 60%, its operating profit ratio
will be : 1
(a) 100%
(b) 60%
() 40%
(d  160%
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frefefaa mgl i Saf srfafrm, 2013 6 AT 111, 91 1 % IR feafa

fereror % g sfident den su-sfidert (afg = 2) & wrffepa Hifom

(1)
(i1)
(iii)

(o o\
qeied TehUrT
ek RUT

HIRT AIFAT

TT Ul Y VAT AR T IS FHAT I faveryur i &+ forw i St 7

I for =aEm 9 it g9t & 39T o giumaeeEy gt g |

1)
(i)

(1)

(i1)

39 | Afd 3TIATAl o TR hl T8N |

ST (i) H TEAM T TGl b YR o foheal g1 STUTGl sl TUSTET |

(%) a8 TAMHCS 1 =Te] SIAE 3-5: 1 8 T A I 2:1 7 |
afe W uimrfrl wowre ehematr frostfesar e

gidtTeea T2ieh (Fawel) Ll &, T 48,000 7, A1 ATe] TREF
AT =] 2FAT3Tt shl MM HIRT |

(@) =R GHAT FTITT hi TUFT hHIT :

ST o Y
Fd R
], Y

HAYAT

T 2,00,000
T 1,00,000
T 4,00,000
Z 1,00,000

242=4

Teh U 1 A6 TIIMA 2: 1 8 | R0 Algd 3@ hivg fob fmfcrfaa

TGl | AT I, HST AT IUH hIg IR T8l ST :

(%) T 60,000 % HTA Hl TE
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(1) Prepaid Rent
(ii)  Mortgage Loan

(iii) Computer Software

‘These ratios are calculated to analyse the earning capacity of the
business which is the outcome of utilisation of resources employed in the
business.’

(1) Identify the types of ratios being discussed above.

(ii))  Explain any two ratios of the type of ratios identified in (i) above.

(1) (a) Y Ltd. has a Current Ratio of 3-5 : 1 and Quick Ratio of
2:1. If excess of current assets over quick assets
represented by inventory is ¥ 48,000, calculate current

assets and current liabilities. 2+42=4

(b)  Calculate Debt to Equity Ratio :

Shareholder Funds - ¥ 2,00,000

Reserves and Surplus — ¥ 1,00,000

Total Debt — T 4,00,000

Current Liabilities — ¥ 1,00,000
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons
which of the following transactions would improve, reduce or not
change the ratio :

(a)  Purchase of goods for cash ¥ 60,000

(b)  Purchase of fixed assets for cash T 2,00,000

(c) Sale of goods costing T 20,000 for ¥ 23,000 on credit
(d)  Issue of shares ¥ 10,00,000
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a2 2o 2o 4

Page 34




67/4/3

Read the following hypothetical text and answer the given question on
this basis :

Madhav is a young entrepreneur. On 1St April, 2019, he formed a
partnership firm with two of his friends, Mohan and Sohan. They started
their business of exporting dry fruits. Their business was a successful
business. Now they wanted to expand the business in many other
countries. For meeting the financial requirements, they changed the form
of business organisation and formed Madhav Ltd. The Balance Sheet of

Madhav Ltd. as at 31.3.2022 was as follows :
Balance Sheet of Madhav Ltd. as at 315t March, 2022
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Particul Note | 31.3.2022 | 31.3.2021
articulars No. > -
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 35,00,000 | 25,00,000
(b) Reserves and Surplus
(Statement of P & L) 12,50,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings
(10% Debentures) 12,50,000 3,50,000
3. Current Liabilities
(a) Short-term Borrowings
(Bank Overdraft) 50,000 75,000
(b) Trade Payables 2,50,000 1,50,000
(c) Short-term Provisions 1 1,50,000 75,000
Total 64,50,000 | 41,50,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 2 40,00,000 | 22,50,000
(b) Intangible Assets
(Goodwill) 3,50,000 5,00,000
2. Current Assets
(a) Inventories 6,25,000 5,00,000
(b) Trade Receivables 12,50,000 7,50,000
(c) Cash and Cash
Equivalents 2,25,000 1,50,000
Total 64,50,000 | 41,50,000
N N N
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. Particulars Amount Amount
< <
1 Short term Provisions
Provision for Tax 1,50,000 75,000
2 Tangible Assets
Plant and Machinery 44.00,000 | 25,00,000
Less Accumulated Depreciation (4,00,000) | (2,50,000)
40,00,000 | 22,50,000

Additional Information :

(1) A part of the machine costing ¥ 1,25,000 accumulated depreciation
thereon being ¥ 50,000 was sold for 45,000 during the year.

(ii)  Interest of ¥ 1,25,000 was paid on Debentures.

Calculate cash flows from ‘Investing activities’ and ‘Financing activities’
of Madhav Ltd. from the information provided above. 6

PART B
OPTION -11
(Computerised Accounting)

Which type of software package is suitable for an organization where the

volume of transactions is very low and adaptability is very high ? 1
(a)  Generic (b)  Specific

(c) Tailored (d)  (b) and (c) both

(i) The need of codification is for : 1

(a)  Generation of mnemonic codes.

(b)  The encryption of data

(c) Securing the accounts, reports, etc.

(d) Easy processing of data and keeping proper records

OR

a2 2o 2o 4
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(ii1)  Where are the amounts owed by customers for credit purchases
found in books of accounts ?

(a)  Accounts Receivable Journal

(b)  General Ledger

(c)  Accounts Receivable Subsidiary Ledger
(d)  Sales Journal

(i) To safeguard assets and optimise the use of resources, a business :
(a)  Only tries to earn maximum revenue.
(b)  Keeps internal controls.
(c) Only ensures accurate accounting records.
(d)  Only safeguards assets.

OR

(ii)  Correct ##### error appears :
(a)  When a number is divided by zero.
(b)  When value is not available.
(¢)  When column is not wide enough.
(d)  When formula is not available.

A ‘value’ or ‘function’ or an ‘arithmetic expression’ is recorded in
(a)  Row (b)  Column
(c)  Cell (d) Range

What is meant by ‘Memo Voucher’, ‘Post-dated Voucher’ and
‘User-defined voucher’ ?

Differentiate between ‘Generic Software’ and ‘Tailored Software’ on any
three basis.

(a)  Explain account group ‘Current Assets’.
OR

(b)  Give the meaning of ‘labels’ and ‘values’ as used in spreadsheet.

Name and explain the financial function which will be used to verify the
total interest on a loan between any two periods.

-~~~ Page 39



